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General Instructions :

(i)  The question paper comprises two Sections, A and B. You are
to attempt both the sections.

(ii)  All questions are compulsory.

(iii)  There is no choice in any of the questions.

(iv)  All questions of Section A and all questions of Section B are to
be attempted separately.

(v)  Question numbers 1 to 3 in Section A are one mark questions.
These are to be answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section A are two marks questions.
These are to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three marks
questions. These are to be answered in about 50 words
each.

(viii) Question numbers 19 to 24 in Seciion A are five marks
questions. These are to be answered in about 70 words each.

(ix) Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Fach question is a
one-mark question. You are to select one most appropriate
response out of the four provided to you.

(x)  Question numbers 34 to 36 in section B are two-marks
questions based on practical skills. These are to be answered
in brief.
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Section-A
1. Tr=fafRaa 8@ 9 g 1 e gesid Jtfies fafiae 1
(1) C2H4
(i) C,H,

Write the next homologue of each of the following :
(1) C,H,

(i) C,H,

2. TEIheH & 38 WM &1 W faige S|t Hifde Jae+ & fou s
Tarfaa g g | 1

Name the part of Bryophyllum where the buds are produced for

vegetative propagation.

3. 3l Uehice qTiasll =hl g=ht 9415 | 1

List two natural ecosystems.

4. 3 <1 Tt o1 3cor@ Hifae Si@l foret foray @t TWaA W SAade guor
F 3G JTafed gidfers ad & | 39 YR &4 gfdfersi o o | al

=Ll 3l g SR | 2

State two positions in which a concave mirror produces a
magnified image of a given object. List two differences between

the two 1mages.
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forelt 3fad TR @ E=Tfcid SA-9WR TR o IR ATl ohi gl
EEIE

List four advantages of properly managed watershed management.

Tordlt T8 wawor il Ieretr Gfed SareT shifst o o | &
Gishd T8I T 99 1 Jo=44 BollcdTesh o1 |

Explain giving example where active involvement of local people

lead to efficient management of forest.

gEaarst Afier o1 87 A A Ak § 9 a9 8id 87 Feh I
formmy Tqoni st g=f ST |

What are covalent compounds? Why are they different from ionic

compounds? List their three characteristic properties.

St UgATe wiE H,S0, i 3ufeufa & wamiss atva @ stfufsran s 2,
al {3 79 Ik vated Ic9d BT @ | e e e et 3 3w i

(i) 9g g ot ¥ Afies g Aifiest & ot 7 a8, 35er a9 fofaw |
ffeRa =1 TETE e e 3T o9 a1l 3cd1e =1 9™ fefigu |

(i) 39 rfferen § @i H,SO, =l ek 1 Ieci@ hifer |
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When ethanol reacts with ethanoic acid in the presence of conc.

H,SO,, a substance with fruity smell is produced. Answer the

following :

(1) State the class of compounds to which the fruity smelling
compounds belong. Write the chemical equation for the reaction

and write the chemical name of the product formed.

(ii) State the role of conc. H,SO, in this reaction.

Ffcoam #1E ded & et sy @& 20 2 | i fau T g gw1 &
0T Gied 3aT ST : 3

(i) hfcHam orq 8 e 31rg ?

(ii) sHehY ATy Fream afyrm (W) @en = 19) | w0 wnft StyEr
feran 7

(iii) 3Tk 3TTadTse o1 g foafaw |

Calcium is an element with atomic number 20. Stating reason
answer each of the following questions :

(1) Is calcium a metal or non-metal?

(11) Will its atomic radius be larger or smaller than that of potassium

with atomic number 19 ?

(111) Write the formula of its oxide.
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10. &% d@ ‘M’ e soreeq fo=ma (2, 8, 2) ®, 99% €9 9 o

(NO,)",(SO,)* @ (PO,)* & T HIN FAT © | 30 TR &4 I
ARt o g forfaw | aed M’ mgfek 21ad anefl & fhe o 3
JAEd H H@l 27 ‘M EGgEASi Afies s sAgEr s ifies
SHITQIT ? 3794 3T <hl shreT dfga gie i |

An element ‘M’ with electronic configuration (2, 8, 2) combines
separately with (NO3)_,(SO4)2_ and (PO4)3_ radicals. Write the
formula of the three compounds so formed. To which group and
period of the Modern Periodic Table does the elements ‘M’

belong? Will ‘M’ form covalent or ionic compounds? Give reason

to justify your answer.

11. 9 =R Afer S 510 S L 3796 TR ST g1 S R, 3
gl &t diet o3 difedl do Fdfadil # urgai sl 9@ fohd S fra ot
Tl B 7 U ST shl TRIAT | S HiferT |
How do organisms, whether reproduced asexually or sexually
maintain a constant chromosome number through several
generations? Explain with the help of suitable example.

31/1/1 b
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12. 9 3@ ¥ 91T U 9rTt A, B 3R C & 9™ 3 ek &l Teh-Ush il
ferRaw | 3

)
y "

Name the parts A, B and C shown in the following diagram and

state one function of each.

>

13. AFaE SHEE & Faha &, S 39 & @ AR 9qfg & fog
ATEE &, i Hls a1 TH Uy GRET gHEel y@E 9y % qw

firgr= &1 Sooi@ shifsu | 3

Suggest three contraceptive methods to control the size of human
population which is essential for the health and prosperity of a

country. State the basic principle involved in each.

31/1/1 8
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14. He & Nyl & @y oy U ded & U @ ° 39 98 Seror forn f
ST Hel o Y@ aFl e o1 Y[ ol WY ok |19 Hehol U T,
afd &1 eet 9, F, § Fae ava 0 gfimer 8 2 | 3

(a) 39 IO H S DIl 3 AL o1 1 BT R 7

(b) S F, gl & Wi &1 e g fem w5 a1 3 a8 e
fofen for wafa 6 qudt fidl, E, & 21 areoii- o Wl o ae 99
femaré 5o € | T = gan 7 e § e i |

In one of his experiments with pea plants Mendel observed that

when a pure tall pea plant is crossed with a pure dwarf pea plant, in

the first generation, F, only tall plants appear.

(a) What happens to the traits of the dwarf plants in this
case?

(b) When the F generation plants were self-fertilised, he observed
that in the plants of second generation, F, both tall plants

and dwarf plants were present. Why it happened? Explain
briefly.

15. 3UTiSid SA&T SR ATIARTF A& 6 sfid A forseeri cegon h g
dTfeteRt & &9 § 15T | 3

List three distinguishing features, in tabular form, between

acquired traits and the mherited traits.
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16. = fou U amg =1, fSgH 3radae /396 g1 W s TehreT fohor Sqaaq
L gl TR 7, STuH ST gfedent W Wi | Teie TeRr § 39 foRtr

T YT 9 YU o I 1 99 ST | 3

N
th E@( F

E%(F

Draw the following diagram, in which a ray of light is incident on a
concave/convex mirror, on your answer sheet. Show the path of

this ray, after reflection, in each case.

. )
7

17. WA g3 ThIM 1 Jd1d Sial § ¢ 91 I3 S&Th 36 THEeHT 3l Jaq0
TFe5uT T oft L Gehdl 2 ¢ 319 I ol Hrr Afed giP i | 3

Why does the sun appear reddish early in the morning? Will this
phenomenon be observed by an observer on the moon? Justify your

answer with a reason.

31/1/1 10
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23. (a)

(b)

(©)
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Draw ray diagrams to show the principal focus of a :
(1) Concave mirror

(11) Convex mirror

Consider the following diagram in which M is a mirror and
P is an object and Q is its magnified image formed by the

MITTOr.

State the type of the mirror M and one characteristic property of
the image Q.

3 o g Yidfers 5941 <914 o fou 39 fesufa § gemmer fomo
difae fSed #is fora T o JeTferh s 3R 39 §&7 Bihd &
o= fea R

ISP fRor sm@ # 3fua fom wfed (v (1) st
FOMCHSE () T3 Frard g it & ogur) fom gt (u) aen
wfaferms gt (v) 2ifra Sifsie | Seora Fifse 6 39 = F, 3 gfat
3T o 1 BrRd g (f) T R wehR wefea 2 |

39 o9 i &HaT J1d IS, ST 319 TR s & 20 cm g W
foora fereft fommar =1 —1 Smmarel =1 AT & Soer wfdfera ST R |

14
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(a) Draw a ray diagram to show the formation of image by a
convex lens when an object is placed in front of the lens

between its optical centre and principal focus.

(b) In the above ray diagram mark the object-distance (u#) and the
image-distance (v) with their proper signs (+ve or — ve as per
the new Cartesian sign convention) and state how these
distances are related to the focal length (f) of the convex lens in

this case.

(c) Find the power of a convex lens which forms a real, and
inverted image of magnification —1 of an object placed at a

distance of 20 ¢cm from its optical centre.

24. (a) OE4 = o 1 U T T 91 %1 SR folfa :
qactt, aftarien, fheeefia oid, qammsf afim
(b) TER % fasrrasiiet <o o @l it sifHar-sigar 4 fifed & |
Rl Bl AFEE GRI AT ShifAAT & TeIqoT/Sfaeem g 3
foran <1 g ® | 319k et & TR qOuet a3 3 IS
T ] 927 & IR H SNTeshdl 399 1 & Ievd U Tk IR &
ImEsH foRem B | afe oud 5@ Sfaa-as § w91 # faw wa
ST, T 379 39 g0 &/ § foRg Wehr T &7 7
(i) 39 YR o AN 1 TR HH 1 389 foafay |
(ii) Jcg % qg=Td 39 =31 I IH HH o ol URa Fid g0g 3
ST ol T e o7 ¢ UE & ekl shl Gt SATST |
(iii) 37 &1 geat il gt TR, S 39 Atwat § w8 9 g,
ST 39 TR 3 IAT § T ol Ffshd ANTEH <d % | 5
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